
Weselin Topałow — Viswanathan Anand 
Sofia 2010 

D56 — gambit hetmański, wariant Laskera 
 
    1. d4   d5  
    2. c4   e6  
    3. iiiif3  iiiif6  
    4. iiiic3  cccce7  
    5. ccccg5  h6  
    6. cccch4  O-O  
    7. e3   iiiie4  
    8. cccce7  rrrre7  
    9. ssssc1 c6  
  10. cccce2  iiiic3  
  11. ssssc3  dc4  
  12. ccccc4  iiiid7  
  13. O-O  b6  
  14. ccccd3  c5  
  15. cccce4  ssssb8  
  16. rrrrc2  iiiif6  
  17. dc5  iiiie4  
  18. rrrre4  bc5  
  19. rrrrc2  ccccb7  
  20. iiiid2  
(A) 20. sc5 cf3 i 21... sb2.  
(B) 20. ie5? cg2 21. lg2 rg5+.  
  20...   ssssfd8  
  21. f3   cccca6  
  22. ssssf2  ssssd7  
  23. g3   ssssbd8  
  24. llllg2  
24. ib3 cd3 i nie moŜna  
25. rc1? z uwagi na 25...  ce4! 
 24...   ccccd3  
  25. rrrrc1  cccca6  
  26. ssssa3  ccccb7  
  27. iiiib3  ssssc7  
  28. iiiia5  cccca8  
  29. iiiic4  e5!  
  30. e4   f5! 

 

  31. ef5? 
NaleŜało grać 31. id2 fe4  
32. ie4 ce4 33.  fe4.  
  31...   e4  
  32. fe4   rrrre4+  
  33. llllh3  ssssd4!  
  34. iiiie3  rrrre8!  
  35. g4   h5!  
  36. llllh4  g5+!  
  37. fg6  
37. lg5 sg7+ 38. lh4 hg4.  
  37...   rrrrg6  
  38. rrrrf1!  ssssg4+  
  39. llllh3  sssse7!  
  40. ssssf8+  
40.  sb3? se3 41.  se3 sh4+  
42.  lh4 rg4x.  
  40...   llllg7  
  41. iiiif5+  llllh7  
  42. ssssg3  ssssg3+  
  43. hg3  rrrrg4+  
  44. llllh2  sssse2+  
  45. llllg1  ssssg2+  
  46. rrrrg2  ccccg2  
  47. llllg2 
47.  sf7+ lg6 48.  sg7+ lf5  
49.  sg4 hg4 50.  lg2 le4.   
  47...   rrrre2+  
  48. llllh3  c4  
  49. a4   a5  
  50. ssssf6  llllg8  
  51. iiiih6+  llllg7  
  52. ssssb6  rrrre4  
  53. llllh2  llllh7  
  54. ssssd6  rrrre5  
  55. iiiif7  rrrrb2+  
  56. llllh3  rrrrg7  
i białe poddały się.  


